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CORRECTION

3UNE INTÉGRALE !

Calculons l’intégrale : 

Ici:  = 
 2

1
  2  1 +  3 d .

Soit  (  ) =  2  1 +  3 .  f est continue sur [ 1 ; 2 ]. Elle admet donc des primitives  
sur [ 1 ; 2 ] et par conséquent  existe.

 = 
 2

1
 x 2  1 + x 3 d x  <=>   = 1

3
 x 

 2

1  
3 x 2  1 + x 3 d x

<=>   = 1
3
 x 

 2

1
 U ’ (  ) x ( U (  ) ) 1/2 d x,  avec: U (  ) = 1 +  3

<=>   = 1
3
 x  ( U (  ) ) 3/2

3/2
  

2

1

<=>   = 2
9
 x [ ( 1 + x 3 ) 3/2 ] 2

1

cad:  = 2
9
 x ( ( 9 ) 3/2 - ( 2 ) 3/2 ).

Ainsi:  = 2
9
 x ( ( 9 ) 3/2 - ( 2 ) 3/2 )  ou   = 2

9
 ( 27 - 2  2 ). 
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